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Problem quickname: 9400

1)
Calculate the result.

a) 0.92 - 30 = 35.88
d) 18-0.24 = 4.32
g) 13-0.41 = 5.33
i) 0.94 - 28 = 26.32

2)
Calculate the result.

a) 5.2 7 = 36.4
d) 9.6-44 = 422.4
g) 4.1-5=20.5
j) 6.4-12 = 76.8

3)
Calculate the result.

a) 523 - 0.0005 = 0.2615
c) 0.0008 - 765 = 0.612

e) 936 - 0.0003 = 0.2808
g) 207 - 0.0004 = 0.0828
i) 754 - 0.0003 = 0.2262

)

Calculate the result.

a) 13.04 - 45 = 586.8
d) 14 - 25.06 = 350.84
g) 63.06 - 32 = 2017.92
i) 46.05 - 40 = 1842

Good Luck!
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) 0.26 - 98 = 25.48
62-0.17 = 10.54
75-0.35 = 26.25

b) 6.9 - 62 = 427.8
¢) 9.8 - 44 = 431.2
h) 9.9 - 31 = 306.9

b) 4 - 80.05 = 320.2
e) 60.06 - 4 = 240.24

Worksheet

b) 843 - 0.0002 = 0.1686

d) 569 - 0.0007 = 0.3983
f) 0.0009 - 705 = 0.6345

h) 913 - 0.0002 = 0.1826

j) 0.0008 - 695 = 0.556

h) 23 -13.04 = 299.92
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¢) 12-0.85 = 10.2
£) 92 0.42 = 38.64
i) 55-0.26 = 14.3

¢) 8.6-69 = 593.4
£)7.8-24 = 187.2
i) 9.4 -90 = 846

c) 9-39.08 = 351.72

f) 82.09 - 39 = 3201.51
i) 47.06 - 31 = 1458.86
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